Filomat 34:14 (2020), 4597–4605 https://doi.org/10.2298/FIL2014597C



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

The p-Drazin Inverse for Operator Matrix over Banach Algebras

Huanyin Chen^a, Honglin Zou^b, Tugce Pekacar Calci^c, Handan Kose^d

^aDepartment of Mathematics, Hangzhou Normal University, Hangzhou, China ^bDepartment of Mathematics, Hubei Normal University, Huangshi, China ^cDepartment of Mathematics, Ankara University, Ankara, Turkey ^dDepartment of Mathematics, Ahi Evran University, Kirsehir, Turkey

Abstract. An element *a* in a Banach algebra \mathcal{A} has p-Drazin inverse provided that there exists $b \in comm(a)$ such that $b = b^2 a$, $a^k - a^{k+1}b \in J(\mathcal{A})$ for some $k \in \mathbb{N}$. In this paper, we present new conditions for a block operator matrix to have p-Drazin inverse. As applications, we prove the p-Drazin invertibility of the block operator matrix under certain spectral conditions.

1. Introduction

Let \mathcal{A} be a Banach algebra with an identity. The commutant of $a \in \mathcal{A}$ is defined by $comm(a) = \{x \in A \mid xa = ax\}$. An element *a* in a Banach algebra \mathcal{A} has p-Drazin inverse provided that there exists $b \in comm(a)$ such that $b = b^2 a, a^k - a^{k+1}b \in J(\mathcal{A})$ for some $k \in \mathbb{N}$. The preceding *b* is unique if exists, and we denote it by a^{\ddagger} . We refer the reader to [11, 13, 17, 18] and [20] for more properties of p-Drazin inverse in a Banach algebra.

Recall that $a \in \mathcal{A}$ has g-Drazin inverse provided that there exists $b \in comm(a)$ such that $b = b^2 a, a - a^2 b \in \mathcal{A}^{qnil}$ (see [6]). More results on g-Drazin inverse can be found in [1–5, 10, 19, 21]. As is well known, every p-Drazin inverse is just the g-Drazin inverse. The p-Drazin inverse should be expressed as that of the g-Drazin inverse if exists. We will suffice to investigate the existence for p-Drazin inverse. This motivates us to present new conditions for a block operator matrix to have p-Drazin inverse.

Let $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})$. Let $a, d \in \mathcal{A}^{\ddagger}$. If

 $bd^{\ddagger} = 0$ or $d^{\ddagger}c = 0$, and $bd^{i}c = 0$ for all $i \ge 0$,

in Section 2, we prove that *M* has p-Drazin inverse.

In Section 3, we determine the p-Drazin invertibility of the block operator matrix *M* under certain spectral conditions. If $(bc)^{\pi}abc = 0$ or $bca(bc)^{\pi} = 0$, and bd = 0, then *M* has p-Drazin inverse.

Keywords. p-Drazin inverse; operator matrix; Banach algebra.

Received: 24 January 2020; Accepted: 20 April 2020

²⁰¹⁰ Mathematics Subject Classification. 15A09, 47A11, 16U99

Communicated by Dragana S. Cvetković-Ilić

Corresponding author: Tugce Pekacar Calci

Research supported by the Natural Science Foundation of Zhejiang Province, China (No. LY21A010018). The

third author thanks the Scientific and Technological Research Council of Turkey (TUBITAK) for the financial support.

Email addresses: huanyinchen@aliyun.com (Huanyin Chen), honglinzou@163.com (Honglin Zou), tcalci@ankara.edu.tr (Tugce Pekacar Calci), handankose@gmail.com (Handan Kose)

Throughout the paper, all Banach algebras are complex with an identity. We use $J(\mathcal{A})$ denotes the Jacobson radical of \mathcal{A} . $\sqrt{J(\mathcal{A})}$ stands for the radical of $J(\mathcal{A})$, i.e., $\sqrt{J(\mathcal{A})} = \{x \mid x^m \in J(\mathcal{A}) \text{ for some } m \in \mathbb{N}\}$. \mathcal{A}^{\ddagger} denotes the set of all elements having p-Drazin inverses in \mathcal{A} . For any $a \in \mathcal{A}^{\ddagger}$, we use a^{π} to stand for the spectral idempotent $1 - aa^{\ddagger}$.

2. 2 × 2 Operator matrices

Let $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})$. The aim of this section is to determine when M has p-Drazin inverse under certain conditions and generalize [9, Theorem 3.2] from g-Drazin inverse to p-Drazin inverse. The following lemmas are crucial.

Lemma 2.1. Let $a, b \in \mathcal{A}$ and $a, b \in \sqrt{J(\mathcal{A})}$. If $ab^k a = 0$ for any $k \in \mathbb{N}$, then $a + b \in \sqrt{J(\mathcal{A})}$.

Proof. Let $a^m, b^n \in J(\mathcal{A})$. Assume that t = m + n. Then $a^t, b^t \in J(\mathcal{A})$. Let s = 3t + 1. Then every term of $(a + b)^s$ should be

$$a^{i_1}b^{j_1}a^{i_2}b^{j_2}\cdots a^{i_s}b^{j_s}$$
,

where $i_1, j_1, \dots, i_s, j_s \ge 0, i_1 + j_1 + \dots + i_s + j_s = s$. If the term contains $ab^k a(k \in \mathbb{N})$, then it is zero. So the nonzero terms should be written in the form $b^k a^l b^r (k + l + r = s)$. Then k or l or r is greater than t. Hence, $b^k a^l b^r \in J(\mathcal{A})$. Therefore $(a + b)^s \in J(\mathcal{A})$, as asserted. \Box

Lemma 2.2. Suppose that $a, d \in \sqrt{J(\mathcal{A})}$. If $bd^i c = 0$ for all $i \ge 0$, then $M \in \sqrt{J(\mathcal{M}_2(\mathcal{A}))}$.

Proof. Let $a^m, d^n \in J(\mathcal{A})$ and M = P + Q, where $P = \begin{pmatrix} a & b \\ c & 0 \end{pmatrix}$, and $Q = \begin{pmatrix} 0 & 0 \\ 0 & d \end{pmatrix}$. Since bc = 0, we see that

$$\begin{pmatrix} a & 1 \\ bc & 0 \end{pmatrix}^{m+1} = \begin{pmatrix} a & 1 \\ 0 & 0 \end{pmatrix}^{m+1} \in J(M_2(\mathcal{A})),$$

and so

$$P^{m+2} = \left[\begin{pmatrix} a & 1 \\ c & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & b \end{pmatrix} \right]^{m+2} \\ = \begin{pmatrix} a & 1 \\ c & 0 \end{pmatrix} \begin{pmatrix} a & 1 \\ bc & 0 \end{pmatrix}^{m+1} \begin{pmatrix} 1 & 0 \\ 0 & b \end{pmatrix} \\ \in J(M_2(\mathcal{A})).$$

Clearly, $Q^n \in J(M_2(\mathcal{A}))$. We easily check that

 $PQ^kP = 0$

for any $k \in \mathbb{N}$. Hence, $M = P + Q \in \sqrt{J(\mathcal{A})}$ by Lemma 2.1.

Lemma 2.3. Let \mathcal{A} be a Banach algebra. If $a \in A^{\ddagger}$, $d \in \sqrt{J(\mathcal{A})}$ and $bd^{i}c = 0$ for all $i \ge 0$, then M has p-Drazin inverse.

Proof. Let $N = \begin{pmatrix} a^{\ddagger} & \gamma \\ \delta & \delta a \gamma \end{pmatrix}$, where

$$\gamma = \sum_{i=0}^{\infty} (a^{\ddagger})^{i+2} b d^{i}, \delta = \sum_{i=0}^{\infty} d^{i} c (a^{\ddagger})^{i+2}.$$

By hypothesis, we have

$$\gamma d^i c = 0, b d^i \delta = 0, \gamma d^i \delta = 0$$

for any $i \ge 0$. We shall prove that $N = M^{\ddagger}$.

Step 1. MN = NM. We compute that

$$MN = \begin{pmatrix} aa^{\ddagger} & a\gamma \\ ca^{\ddagger} + d\delta & c\gamma + d\delta a\gamma \end{pmatrix}$$
$$NM = \begin{pmatrix} a^{\ddagger}a & a^{\ddagger}b + \gamma d \\ \delta a & \delta b + \delta a\gamma d \end{pmatrix}.$$

As in the proof of [9, Lemma 3.1], we easily check that MN = NM. Step 2. $N = MN^2$. We have

$$I - MN = \begin{pmatrix} a^{\pi} & -a\gamma \\ -ca^{\ddagger} - d\delta & 1 - c\gamma - d\delta a\gamma \end{pmatrix}.$$

As $\gamma c = \gamma \delta = 0$, we have

$$N(I - MN) = \begin{pmatrix} 0 & \gamma - a^{\ddagger}a\gamma \\ \delta a^{\pi} & 0 \end{pmatrix} = 0$$

Hence, $N = MN^2$.

Step 3. $M - M^2 N \in \sqrt{J(\mathcal{A})}$. Since $bd^i c = 0$ for all $i \ge 0$, we easily verify that

$$M(I - MN) = \begin{pmatrix} aa^{\pi} & b - a^{2}\gamma \\ ca^{\pi} - dca^{\ddagger} - d^{2}\delta & d - \sigma \end{pmatrix},$$

where $\sigma = ca\gamma + dc\gamma + d^2\delta a\gamma$.

Clearly, $aa^{\pi} \in \sqrt{J(\mathcal{A})}$. By hypothesis, we see that $\sigma d^{i}\sigma = 0$ for all $i \ge 0$. Hence, $\sigma^{2} = 0$, and so $d, -\sigma \in \sqrt{J(\mathcal{A})}$. In view of Lemma 2.1, we see that $d - \sigma \in \sqrt{J(\mathcal{A})}$. Moreover, we have

$$(b - a^2 \gamma)(d - \sigma)^m (ca^\pi - dca^\ddagger - d^2\delta) = 0$$

for all $m \ge 0$. Therefore $M - M^2 N \in \sqrt{J(\mathcal{A})}$ by Lemma 2.2. Therefore $N = M^{\ddagger}$ as assorted

Therefore $N = M^{\ddagger}$, as asserted. \square

We have accumulated all information necessary to prove the following.

Theorem 2.4. Let $a, d \in \mathcal{A}^{\ddagger}$. If

$$bd^{\ddagger} = 0, bd^{i}c = 0$$
 for all $i \ge 0$,

then M has p-Drazin inverse.

Proof. Clearly, M = P + Q, where

$$P = \begin{pmatrix} a & b \\ c & dd^{\pi} \end{pmatrix}, \ Q = \begin{pmatrix} 0 & 0 \\ 0 & d^2d^{\ddagger} \end{pmatrix}$$

Obviously, *Q* has p-Drazin inverse. Clearly, bc = 0. For any $k \ge 0$, we have $b(dd^{\pi})^k c = bd^k d^{\pi}c = bd^k c = 0$, and so $b(dd^{\pi})^k c = 0$ for all $k \ge 0$. Clearly, $dd^{\pi} = d - d^2d^{\ddagger} \in \sqrt{J(\mathcal{A})}$. In light of Lemma 2.3, *P* has p-Drazin inverse. On the other hand,

$$PQ = \begin{pmatrix} a & b \\ c & dd^{\pi} \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & d^2d^{\ddagger} \end{pmatrix} = 0.$$

Therefore *M* has p-Drazin inverse, by [13, Theorem 5.4]. \Box

Corollary 2.5. Let $a, d \in \mathcal{A}^{\ddagger}$. If

$$ca^{\ddagger} = 0, ca^{i}b = 0$$
 for all $i \ge 0$

M has p-Drazin inverse.

Proof. In view of Theorem 2.4, the matrix $\begin{pmatrix} d & c \\ b & a \end{pmatrix}$ has p-Drazin inverse. It is easy to check that $\begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} d & c \\ b & a \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}.$

Since $\begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}^2 = I_2$, we easily obtain the result. \Box

Theorem 2.6. Let $a, d \in \mathcal{A}^{\ddagger}$. If

$$d^{\ddagger}c = 0, bd^{i}c = 0$$
 for all $i \ge 0$,

M has p-Drazin inverse.

Proof. Clearly, M = P + Q, where

$$P = \begin{pmatrix} 0 & 0 \\ 0 & d^2 d^{\ddagger} \end{pmatrix}, \ Q = \begin{pmatrix} a & b \\ c & d d^{\pi} \end{pmatrix}$$

Obviously, *P* has p-Drazin inverse. As in the proof of Theorem 2.4 we easily check that $b(dd^{\pi})^k c = bd^k d^{\pi}c = bd^k c = 0$ for any $k \ge 0$. In view of Lemma 2.3, *Q* has p-Drazin inverse. By hypothesis, we see that

$$PQ = \left(\begin{array}{cc} 0 & 0 \\ 0 & d^2 d^{\ddagger} \end{array} \right) \left(\begin{array}{cc} a & b \\ c & d d^{\pi} \end{array} \right) = 0.$$

According to [13, Theorem 5.4], *M* has p-Drazin inverse, as asserted.

Corollary 2.7. Let $a, d \in \mathcal{A}^{\ddagger}$. If

$$a^{\ddagger}b = 0, ca^{i}b = 0$$
 for all $i \ge 0$,

M has p-Drazin inverse.

Proof. In view of Theorem 2.6, the matrix $\begin{pmatrix} d & c \\ b & a \end{pmatrix}$ has p-Drazin inverse. As in the proof Corollary 2.5, we easily obtain the result. \Box

3. Spectral conditions

In this section we apply the preceding results and demonstrate the p-Drazin invertibility of the block matrix *M* under certain spectral conditions. We now derive

Lemma 3.1. Let $a, d \in \mathcal{A}^{\ddagger}$. If abc = 0, bd = 0 and $bc \in \sqrt{J(\mathcal{A})}$, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Proof. Clearly, we have

$$M^2 = \left(\begin{array}{cc} a^2 + bc & ab\\ ca + dc & cb + d^2 \end{array}\right).$$

Clearly, a^2 has p-Drazin inverse. By hypothesis, *bc* has p-Drazin inverse. Since $a^2(bc) = 0$, it follows from [13, Theorem 5.4] that $a^2 + bc$ has p-Drazin inverse. In light of [13, Theorem 3.6], *cb* has p-Drazin inverse. Then we easily see that $cb + d^2$ has p-Drazin inverse as $(cb)d^2 = 0$. It is easy to verify that

$$ab(cb + d^{2})^{\ddagger} = ab(cb + d^{2}) ((cb + d^{2})^{\ddagger})^{2} = 0;$$

$$ab(cb + d^{2})^{i}(ca + dc) = 0.$$

In view of Theorem 2.4, M^2 has p-Drazin inverse. Therefore M has p-Drazin inverse by [20, Lemma 2.8].

We come now to generalize [16, Theorem 3.1 and Corollary 3.3] from the generalized Drazin inverse to the p-Drazin inverse.

Theorem 3.2. Let $a, d, bc, (bc)^{\pi}a \in \mathcal{A}^{\ddagger}$. If $(bc)^{\pi}abc = 0$ and bd = 0, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Proof. Step 1. Let
$$h = bc$$
, $N = \begin{pmatrix} a & 1 \\ h & 0 \end{pmatrix}$ and $e = \begin{pmatrix} h^{\pi} & 0 \\ 0 & 0 \end{pmatrix}$. Then $N = \begin{pmatrix} a' & b' \\ c' & d' \end{pmatrix}_{e}$, where $a' = eNe, b' = eN(I-e), c' = (I-e)Ne, d' = (I-e)N(I-e).$

Since $(bc)^{\pi}abc = 0$, we have $h^{\pi}ah = 0$, we easily check that

$$\begin{aligned} a' &= \begin{pmatrix} h^{\pi}a & 0\\ 0 & 0 \end{pmatrix}, b' &= \begin{pmatrix} 0 & h^{\pi}\\ 0 & 0 \end{pmatrix}, \\ c' &= \begin{pmatrix} hh^{\ddagger}ah^{\pi} & 0\\ hh^{\pi} & 0 \end{pmatrix}, d' &= \begin{pmatrix} ahh^{\ddagger} & hh^{\ddagger}\\ h^{2}h^{\ddagger} & 0 \end{pmatrix} \end{aligned}$$

Since $h^{\pi}ahh^{\ddagger} = (bc)^{\pi}abc(bc)^{\ddagger} = 0$, it follows by [16, Lemma 2.2] that $(h^{\pi}a)^d = h^{\pi}a^d$. This shows that

$$(h^{\pi}a)(h^{\pi}a^d) = (h^{\pi}a^d)(h^{\pi}a),$$

 $h^{\pi}a^d = (h^{\pi}a^d)(h^{\pi}a)(h^{\pi}a^d).$

Since $a \in \mathcal{A}^{\ddagger}$, we have $a^{k} - a^{k+1}a^{d} \in J(\mathcal{A})$ for some $k \in \mathbb{N}$. Then we verify that

$$\begin{bmatrix} h^{\pi}a - (h^{\pi}a)^{2}(h^{\pi}a^{d}) \end{bmatrix}^{k} \\ = (h^{\pi}a)^{k} \begin{bmatrix} 1 - (h^{\pi}a)(h^{\pi}a^{d}) \end{bmatrix} \\ = (h^{\pi}a)^{k} - (h^{\pi}a)^{k+1}a^{d} \\ = h^{\pi}a^{k} - h^{\pi}a^{k+1}a^{d} \\ = h^{\pi}(a^{k} - a^{k+1}a^{d}) \\ \in J(\mathcal{A}),$$

and so $(h^{\pi}a)^{\ddagger} = h^{\pi}a^{\ddagger}$. Hence, we easily verify that

$$(a')^{\ddagger} = \left(\begin{array}{cc} h^{\pi}a^{\ddagger} & 0\\ 0 & 0 \end{array}\right), (d')^{\ddagger} = \left(\begin{array}{cc} 0 & h^{\ddagger}\\ hh^{\ddagger} & -ahh^{\ddagger} \end{array}\right).$$

Hence, $a', d' \in \mathcal{A}^{\ddagger}$. Moreover, we have

$$a'b'c' = \begin{pmatrix} h^{\pi}ahh^{\pi} & 0\\ 0 & 0 \end{pmatrix};$$
$$b'd' = \begin{pmatrix} h^{\pi}h^{2}h^{\ddagger} & 0\\ 0 & 0 \end{pmatrix};$$
$$b'c' = \begin{pmatrix} hh^{\pi} & 0\\ 0 & 0 \end{pmatrix}.$$

Therefore a'b'c' = 0, b'd' = 0 and $b'c' \in \sqrt{J(\mathcal{A})}$. In light of Lemma 3.1, *N* has p-Drazin inverse. Step 2. It is easy to check that

$$N = \left(\begin{array}{cc} 1 & 0\\ 0 & b \end{array}\right) \left(\begin{array}{cc} a & 1\\ c & 0 \end{array}\right),$$

it follows by [13, Theorem 3.6] that $\begin{pmatrix} a & 1 \\ c & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & b \end{pmatrix}$ has p-Drazin inverse. Therefore $\begin{pmatrix} a & b \\ c & 0 \end{pmatrix}$ has p-Drazin inverse.

Step 3. Write M = P + Q, where

$$P = \left(\begin{array}{cc} 0 & 0\\ 0 & d \end{array}\right), Q = \left(\begin{array}{cc} a & b\\ c & 0 \end{array}\right).$$

Then QP = 0. Clearly, *P* has p-Drazin inverse. By the preceding discussion, we have *Q* has p-Drazin inverse. In light of [13, Theorem 5.4], *M* has p-Drazin inverse, as asserted. \Box

Corollary 3.3. Let
$$a, d, cb, (cb)^{\pi} d \in \mathcal{A}^{\ddagger}$$
. If $(cb)^{\pi} dcb = 0$ and $ca = 0$, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Proof. In view of [13, Theorem 3.6], $cb \in \mathcal{A}^{\ddagger}$. By virtue of Theorem 3.2, we prove that $\begin{pmatrix} d & c \\ b & a \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$. We easily check that

$$M = \left(\begin{array}{cc} 0 & 1 \\ 1 & 0 \end{array}\right) \left(\begin{array}{cc} d & c \\ b & a \end{array}\right) \left(\begin{array}{cc} 0 & 1 \\ 1 & 0 \end{array}\right).$$

This completes the proof. \Box

Corollary 3.4. Let $a, d, bc, (bc)^{\pi}a \in \mathcal{A}^{\ddagger}$. If $(bc)^{\pi}abc = 0, d^{\pi}dc = 0$ and $bd^{\ddagger} = 0$, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Proof. Obviously, we have M = P + Q, where

$$P = \left(\begin{array}{cc} 0 & 0 \\ 0 & d^{\pi}d \end{array}\right), Q = \left(\begin{array}{cc} a & b \\ c & d^{2}d^{\ddagger} \end{array}\right).$$

In light of Theorem 3.2, *Q* has p-Drazin inverse. Since $d^{\pi}dc = 0$, we have PQ = 0, and therefore we complete the proof by [13, Theorem 5.4]. \Box

The following is the symmetric version of Theorem 3.2.

Theorem 3.5. Let $a, d, bc, (bc)^{\pi}a \in \mathcal{A}^{\ddagger}$. If $bca(bc)^{\pi} = 0$ and bd = 0, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Proof. Step 1. Let h = bc and let $N = \begin{pmatrix} a & 1 \\ h & 0 \end{pmatrix}$. Let $e = \begin{pmatrix} hh^{\ddagger} & 0 \\ 0 & 1 \end{pmatrix}$. Then $N = \begin{pmatrix} a' & b' \\ c' & d' \end{pmatrix}_e$, where a' = eNe, b' = eN(1-e), c' = (1-e)Ne, d' = (1-e)N(1-e).

By hypothesis, we have

$$\begin{aligned} a' &= \begin{pmatrix} hh^{\ddagger}a & hh^{\ddagger} \\ h^{2}h^{\ddagger} & 0 \end{pmatrix}, b' &= \begin{pmatrix} 0 & 0 \\ hh^{\pi} & 0 \end{pmatrix}, \\ c' &= \begin{pmatrix} h^{\pi}ahh^{\ddagger} & h^{\pi} \\ 0 & 0 \end{pmatrix}, d' &= \begin{pmatrix} ah^{\pi} & 0 \\ 0 & 0 \end{pmatrix}. \end{aligned}$$

By hypothesis, we have

$$\begin{aligned} a'b'c' &= 0; \\ b'd' &= \begin{pmatrix} 0 & 0 \\ h^{\pi}hah^{\pi} & 0 \end{pmatrix} = 0; \\ b'c' &= \begin{pmatrix} 0 & 0 \\ hh^{\pi}ahh^{\ddagger} & hh^{\pi} \end{pmatrix} \in \sqrt{J(M_2(\mathcal{A}))} \end{aligned}$$

As in the proof of Theorem 3.2, $a', d' \in \mathcal{A}^{\ddagger}$. In light of Lemma 3.1, *N* has p-Drazin inverse. Step 2. Since

$$\begin{pmatrix} a & bc \\ 1 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ 1 & -a \end{pmatrix}^{-1} \begin{pmatrix} a & 1 \\ bc & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & -a \end{pmatrix},$$

we prove that $\begin{pmatrix} a & bc \\ 1 & 0 \end{pmatrix}$ has p-Drazin inverse.

Step 3. Obviously, we have

$$\left(\begin{array}{cc}a & bc\\1 & 0\end{array}\right) = \left(\begin{array}{cc}a & b\\1 & 0\end{array}\right) \left(\begin{array}{cc}1 & 0\\0 & c\end{array}\right).$$

In light of [13, Theorem 3.6], $\begin{pmatrix} 1 & 0 \\ 0 & c \end{pmatrix} \begin{pmatrix} a & b \\ 1 & 0 \end{pmatrix}$ has p-Drazin inverse. Therefore $\begin{pmatrix} a & b \\ c & 0 \end{pmatrix}$ has p-Drazin inverse.

Step 4. Write M = P + Q, where

$$P = \left(\begin{array}{cc} 0 & 0 \\ 0 & d \end{array}\right), Q = \left(\begin{array}{cc} a & b \\ c & 0 \end{array}\right).$$

Then QP = 0, and therefore we complete the proof by the discussion above. \Box

As in the proof of Corollary 3.3, we now derive

Corollary 3.6. Let $a, d, cb, (cb)^{\pi} d \in \mathcal{A}^{\ddagger}$. If $cbd(cb)^{\pi} = 0$ and ca = 0, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Corollary 3.7. Let $a, d, bc, (bc)^{\pi} a \in \mathcal{A}^{\ddagger}$. If $bca(bc)^{\pi} = 0, d^{\pi}dc = 0$ and $bd^{\ddagger} = 0$, then $M = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in M_2(\mathcal{A})^{\ddagger}$.

Example 3.8. Let \mathbb{C} be the field of complex number, and let

$$\mathcal{A} = \left\{ \left(\begin{array}{cc} a & b \\ 0 & c \end{array} \right) \middle| a, b, c \in \mathbb{C} \right\}.$$

Let $M = \begin{pmatrix} E & I_4 \\ F & 0 \end{pmatrix}$, where

Then M has p-Drazin inverse.

Proof. We see that

$$J(\mathcal{A}) = \left\{ \left(\begin{array}{cc} 0 & b \\ 0 & 0 \end{array} \right) \middle| b \in \mathbb{C} \right\}.$$

Clearly, *E* and *F* have p-Drazin inverses. In fact, we have

Moreover, we have

and we are done by Theorem 3.2. \Box

Acknowledgement

The authors would like to thank the referee for his/her careful reading.

References

- D.S. Cvetković-Ilić, The generalized Drazin inverse with commutativity up to a factor in a Banach algebra, *Linear Algebra Appl.*, 431(2009), 783–791.
- [2] D.S. Cvetković-Ilić, Expression of the Drazin and MP-inverse of partitioned matrix and quotient identity of generalized Schur complement, *Appl. Math. Comput.*, 213(2009), 18–24.
- [3] D.S. Cvetković-Ilić, New additive results on Drazin inverse and its applications, Appl. Math. Comput., 218(2011), 3019–3024.
- [4] D.S. Cvetković-Ilić; X. Liu and Y. Wei, Some additive results for the generalized Drazin inverse in a Banach algebra, *Electron. J. Linear Algebra*, 22(2011), 1049–1058.
- [5] D.S. Cvetković-Ilić, Y. Wei, Algebraic Properties of Generalized Inverses, Series: Developments in Mathematics, Vol. 52, Springer, 2017.
- [6] C.Y. Deng, Generalized Drazin inverses of anti-triangular block matrices, J. Math. Anal. Appl., 368(2010), 1-8.
- [7] L. Guo; J. Chen and H. Zou, Representations for the Drazin inverse of the sum of two matrices and its applications, Bull. Iranian Math. Soc., 45(2019), 683–693.
- [8] L. Guo and X. Du, Representations for the Drazin inverses of 2 × 2 block matrices, Appl. Math. Comput., 217(2010), 2833–2842.
- [9] L. Guo; H. Zou and J. Chen, The generalized Drazin inverse of operator matrices, *Hacet. J. Math. Stat.*, 49(2020), 1134-1149.
 [10] J. Ljubisavljević and D.S. Cvetković-Ilić, Additive results for the Drazin inverse of block matrices and applications, *J. Comput.*
- Appl. Math., 235(2011), 3683–3690.
- [11] D. Mosić, The generalized and pseudo n-strong Drazin inverses in rings, *Linear Multilinear Algebra*, 69(2021), 361–375.
- [12] P. Patricio and R.E. Hartwig, The (2, 2, 0) Drazin inverse problem, *Linear Algebra Appl.*, **437**(2012), 2755–2772.
- [13] Z. Wang and J. Chen, Pseudo Drazin inverses in associative rings and Banach algebras, *Linear Algebra Appl.*, 437(2012), 1332–1345.
- [14] D. Zhang, Representations for Drazin inverses of Modified Matrices and Generalized Drazin inverses of Operator Matrices, Ph.D. Thesis, Jilin University, Jilin, 2015.
- [15] D. Zhang, Representations for generalized Drazin inverse of operator matrices over a Banach space, Turkish J. Math., 40(2016), 428–437.
- [16] D. Zhang and D. Mosić, Explicit formulae for the generalized Drazin inverse of block matrices over a Banach algebra, *Filomat*, 32(2018), 5907–5917.
- [17] H. Zhu and J. Chen, Additive property of pseudo Drazin inverse of elements in Banach algebras, Filomat, 28(2014), 1773–1781.
- [18] H. Zhu; J. Chen and P. Patricio, Representations for the pseudo Drazin inverse of elements in a Banach algebra, *Taiwanese J. Math.*, 19(2015), 349–362.

- [19] G. Zhuang; J. Chen; D.S. Cvetković-Ilić and Y. Wei, Additive Property of Drazin Invertibility of Elements in a ring, *Linear Multilinear Algebra*, 60(2012), 903–910.
 [20] H. Zou and J. Chen, On the pseudo Drazin inverse of the sum of two elements in a Banach algebra, *Filomat*, 31(2017), 2011–2022.
- [21] H. Zou; D. Mosić and J. Chen, The existence and representation of the Drazin inverse of a block matrix over a ring, J. Algebra Appl., 18(2019), Article ID 1950212, 23 pages.